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Review Questions

Set 1 - The structure of the atom

1. Name the following elements.
a) He b) Mg ¢) Ba d) P e) Si
f) Co g Li h) N i) e j) Hg

2. Give the symbol for the following elements.
a) Lead b) Carbon ¢) Chlorine d) Copper e)é Potassium
f) Gold g) Sodium  h) Tin i) Todine j) Chromium
3. State if each of the following statements are true or false.
If they are false, alter the statement so that it becomes true.
a) Protons and neutrons have approximately the same mass.
b) In a neutral atom the number of protons equals the number of neutrons.
¢) The mass of an electron is one hundredth the mass of a proton.
d) The nucleus consists of protons and neutrons.
e) The atom is mainly empty space.
f) Most of the mass of an atom exists in the electron cloud.

g) An element is the simplest substance. It cannot be broken down to simpler
substances by chemical reactions.

h) A compound contains 2 or more elements mixed together.
4. Give the number of protons, neutrons and electrons in each of the following
neutral atoms.
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,He b) 2e

127

53I

40
a) Cu (9] 18Ar d)
e) 197 Ay f) 23615
79 92
5. Use Co and CO to explain the differences between elements and compounds.

For the experts

6. Deuterium and tritium are isotopes of hydrogen. How are these isotopes
similar? How are they different?
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Question 2.3 - Draw the electron energy level diagrams and state the
electron configuration for each of the following elements.
a] is completed for you

a) b) %K
28
9 iH d) 1,Si
24
e) ;,Mg H BAr

Example 2.3 : How many electrons in the outermost energy level of calcium?

Electron configurationof Ca = 2,8, 8,2 Answer = 2

|

Question 2.4 - How many electrons in the outermost energy level of:

a) 120 b) fg S

o “Be d) ZLi
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a) carbon (12C) b chlonine (‘35C1)
& 17

(These are sometimes called
' electron energy level diagrams.)

Example 2.2: Write the electron configurations for the two atoms from
Example 2.1.

a) carbon: 2 , 4 b) chlorine: 2,8 , 7

/

Energy level

diagrams are
sometimes drawn
with electrons in
pairs, showing they
occupy the same
orbital. This is only
done if an energy
level contains more
than 4 electrons.

CECKPOINT!

Question 2.2 - Write the electron configuration for each of the following
elements:

a) SHe % Z b) ') Be -2/3_
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